<

Service Parts Catalog Contents
PageSet 6
460 Accessories
BLINDS, DRIVER'S
1
CAMERA, REAR BACKUP
With: FEATURE 38105-03
2
GOOSENECK MICROPHONE
With: FEATURE 31140-11
3
GROMMET CHART
4
MUDFLAPS
FRONT
5
REAR
6
RADIO ANTENNA & SPEAKERS
With: FEATURE 30260-13
7

STOP REQUEST SIGN

With: FEATURE 30299-01




Service Parts Catalog

460 Accessories

2
Models: | LARE
BLINDS, DRIVER'S
L 4 —
Key PartNumber Qty Description Comment
NI 4759616 BLIND DRIVERS FRONT SCREEN MANUAL
NI 4759617 BLIND DRIVERS SIDE WINDOW

To order, contact your Blue Bird Authorized Dealer

PageSet Number —



Service Parts Catalog 460 Accessories

L Page Set PS0005517

Models: | L4RE
CAMERA, REAR BACKUP
With: | FEATURE 38105-03

L 4
Key PartNumber Qty Description Comment

SEE DETAIL A
FOR INSTALLATION

DETATL A

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog
L

460 Accessories

Models: | L4RE
CAMERA, REAR BACKUP
With: | FEATURE 38105-03

Key O artNumber Qty Description Comment

1 0056765 KIT,REAR BACKUP VISION,CAMERA, L4RE

1A LCD MONITOR SUPPLIED WITH KIT
1B COLOR CAMERA SUPPLIED WITH KIT
1C CAMERA CABLE, 50 FT. SUPPLIED WITH KIT
1D POWER HARNESS SUPPLIED WITH KIT
1E A/V INPUT JUNCTION BOX SUPPLIED WITH KIT
1F SPLIT GROMMET, 1" OD X 3/16 ID SUPPLIED WITH KIT
1G SCREW SUPPLIED WITH KIT
1H FLAT WASHER SUPPLIED WITH KIT
1] LOCKWASHER SUPPLIED WITH KIT
1K SCREW SUPPLIED WITH KIT
1L LOCKING NUT SUPPLIED WITH KIT
2 0058010 PLATE,CAMERA,REAR BACKUP, L4RE

3 0058225 TERMINAL,SLIDE,1/4,18-22 GA,AMP

4 1870252 TERMINAL,EYELET,3/8,18 GA,PACKARD

To order, contact your Blue Bird Authorized Dealer

PageSet Number n

Page Set PS0005517



Service Parts Catalog 460 Accessories

L Page Set PS0005521

Models: | L4RE
GOOSENECK MICROPHONE
With: | FEATURE 31140-11

L 4
Key PartNumber Qty Description Comment

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog 460 Accessories
?

Models: | L4RE
GOOSENECK MICROPHONE
With: | FEATURE 31140-11

L 4
Key PartNumber Qty Description Comment

1 0042227 MICROPHONE,GOOSENECK,NO ON/OFF SW,REI
2 1926625 4 SCREW,MACH,10-32X3/4,PHI,PAN HD BLK ZN
3 0019062 4 WASHER,FLAT,13/64 X 1/2 X 3/64,BLACK ZINC
4 0042291 PLATE,BACKING,GOOSENECK MICROPHONE,

5 2001188 4 LOCKWASHER,SPLIT RING, 5/16,MED,YEL ZN

6 1856624 NUT,HEX HD,10-32,PRECISION,BLACK ZINC

7 4755589 HEADERPANEL ASSY FRONT

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog

460 Accessories

Page Set PS0005630

Models: | A1VC, A3FE, A3RE, B1VC, B2VC, B4RE, BBCV, BCCV, C1FE, C3FE, C4RE, CSEV, CSFE, CSRE,

GMCV, GPWB, AARE, AAFE, H4RE, HDFE, L3RE, L4RE, M4RE, MBWB, Q4RE, QBEV, QBRE,
SBCV, T2RE, TCEV, TCFE, TCRE, TSFE, VCTA, W4RE, WLWB
GROMMET CHART

Key O artNumber Qty Description Comment
2003150 GROMMET,CHASSIS,COWL WIRING .16 ID
1619477 GROMMET,RUBBER,.25 ID X .38 OD
2003168 GROMMET,RUBBER .31 1D
0890566 GROMMET,RUBBER,ATLANTIC INDIA,NO 2758 .38 ID
2003218 GROMMET,RUBBER,3/8 ID .38 ID
2003226 GROMMET,RUBBER,W/S WIPER .44 ID
1508613 GROMMET,RUBBER,ATLANTIC INDIA #2426 .50 ID
2003192 GROMMET,RUBBER,FC .751ID
2003234 GROMMET,RUBBER,CHASSIS COWL WIRES,3/4
1894187 GROMMET,RUBBER,.75 ID W/1.00 X .09
2003200 GROMMET,RUBBER,1 IN. ID
2003184 GROMMET,RUBBER,HEATER PANEL,1-1/4 IN. ID
1610450 GROMMET,RUBBER,1.38 ID X 1.718 OD
1652379 GROMMET,RUBBER,1.25 ID W/1.50 X .25
0421792 GROMMET,1 3/4 X 1/16 X1 1/2
2003176 GROMMET,HEATER HOSE,1 1/2IN ID
0026853 GROMMET,RUBBER,2.125 I.D.

0053652 GROMMET,RUBBER,1/4IDX.0625WALL"
0063731 GROMMET,RUBBER,1.00 ID

0066468 GROMMET,RUBBER,13/32 1ID,3/8 GW,5/8 GD
0112325 GROMMET,RUBBER,1.75ID W/2.00 X .25

To order, contact your Blue Bird Authorized Dealer

PageSet Number n



Service Parts Catalog 460 Accessories

L Page Set PS0005522

Models: | LARE
MUDFLAPS
FRONT
L 4 —
Key PartNumber Qty Description Comment

To order, contact your Blue Bird Authorized Dealer
PageSet Number _



Service Parts Catalog 460 Accessories

2
Models: | LARE
MUDFLAPS
FRONT
L 4 —
Key PartNumber Qty Description Comment

1 4762021 1 MUDFLAP,FRONT,16X8.25

2 4762020 1 RETAINER,MUDFLAP,FRONT,11X1.5X16GA

3 0610725 3 CAPSCREW,HEX HD,5/16-18X1 1/4,GR8,

4 2001410 3 NUT,HEX HD,5/16-18,YEL ZN DICH"

5 2001188 3 LOCKWASHER,SPLIT RING, 5/16,MED,YEL ZN

6 2001055 3 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



460 Accessories

Service Parts Catalog
L
Models: | LARE
MUDFLAPS
REAR
Key PartNumber Qty Description Comment

LH REAR

-~ s
‘ L AHOUS TING

/‘ I
Sz
/ J .
/] [N - |&; S
] U ! [N
/ ;N
[N |
I s |
/ s

PageSet Number n

To order, contact your Blue Bird Authorized Dealer



Service Parts Catalog 460 Accessories

2
Models: | LARE
MUDFLAPS
REAR
L 4 —
Key PartNumber Qty Description Comment

1 4762363 1 MUDFLAP,REAR,18X11.5

2 1445410 1 RETAINER,MUDFLAP,FRONT,CONVENTIONAL INT
3 4761335 1 BRACE,MUDFLAP

4 0610725 4 CAPSCREW,HEX HD,5/16-18X1 1/4,GRS,

5 2001410 4 NUT,HEX HD,5/16-18,YEL ZN DICH"

6 2001188 4 LOCKWASHER,SPLIT RING, 5/16,MED,YEL ZN

7 2001055 3 WASHER,FLAT,11/32 X 1 1/4 X 5/32,YEL ZN

8 2001048 1 WASHER,FLAT,11/32 X 11/16 X 1/16,YEL

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 460 Accessories
2

Models: | L4RE
RADIO ANTENNA & SPEAKERS
With: | FEATURE 30260-13

Key ‘PartNumber Qty Description Comment

NI 0051052 ANTENNA,AUDIO VIDEO SYSTEM,REI,60"" FEATURE 30260-01, -07, -13
NI 0422436 SCREW,MACH,10-24X2,PH1,FLT CSK HD,

NI 0042256 SPEAKER,ROUND,METAL GRAY GRILL,REI, C4RE

To order, contact your Blue Bird Authorized Dealer
PageSet Number



Service Parts Catalog 460 Accessories

L Page Set PS0005519

Models: | L4RE
STOP REQUEST SIGN
With: | FEATURE 30299-01

L 4
Key PartNumber Qty Description Comment

T VENDOR SLPPLIED
&

& i i / VENGOR SLPPL [ED
; w
; W
“

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog 460 Accessories

L Page Set PS0005519

Models: | L4RE
STOP REQUEST SIGN
With: | FEATURE 30299-01

Key ‘PartNumber Qty Description Comment
1 0046851 SIGN,STOP REQUEST,C4RE
2 4755589 HEADERPANEL ASSY FRONT

To order, contact your Blue Bird Authorized Dealer
PageSet Number “





